m s +5 W\"Oﬂ T B 5 B — B X
52232 101 3(?‘5 Y I : 5 |78 ® & & w o= B T o
’ EE T ED | 1B o Oy T ACLOOV I ST 55 — R % (—BFYTALDM—16)
51255 o 18875 = ‘ 2 |mmE EEEE (ERARELE)
$ 120 e - '129 - 5* 318 R’ BB S0 AR
2 ' ' ' 457 T E | BeEn
= 5lvrvs— |FILI=ZHAK
7 /) 617U & s BE A9494 + (702578, 4/0. 5)
©| K4 N | D et [ N 77 UNTAE R | EhAAT L ARE
il o I i 8 [T £L2aF (204 600V)
|09 |0 /e e P /
N ag | e 2 k&/l
- l 1 i R E e
@ e Z 50H
— - Z
416 M= &= o - 600z
@ e 2-45.5 VP T1015DTU—2 (VAT AHH) 0N
@ - o o 300
> [ 5 ] i z > %‘-ﬁ\
@ | / &) ‘
o N = D
/ A . BhiE A ik 200 < CUAS T
; = 292 8 _ 184 N X\ Z‘O‘m
| o © N N
] R [ — ! I = D . 1‘5‘m
Lo m D \ * \
e ® | LOOFTT 1 T
©| 3 ) EEEEEES AT
- N1 LA L1 5m
I i R SZ **\*\{:}; ] ( Il /f/: LY
4 0 =
[I e 3 N \/ “L\” r/\ D 100 200 300 400 500 600 700 800
5 5 g —— A& (m*h)
BREI- FPRUE 149 ,JJ /4
m HHxE wmevo2r®: 0150 AR D Y HE 4 0 0 mm™ —e—— -, % U
Z)IVMOmEE: 877 om? 0 AHBUFBROEDEETLIENHYET.
EE[VFERIEERR(AE[E 5[E = (1) FHEOES 2 5mmE T/ 0o MwBAOE |0 % . % =
(V) (Hz) | (W) | (A) [(m*/h)|(dB)|(kg) N HY}JWM\\ﬁ%i? & | BIYT - HASE
” 50 | 98.01. 10/ 70045.0 (HE2) BRO - FICXYREMBT 2% . \ -
100 60 [104. 01. 16[67004. 0], , BEREEHFE CEACE S, % ®|DS—-24VGH mREs| 6396
- 50 | 78.00.86|445]35. 0] >
60 | 75.00.85/405033. 5 mEgs| 4TT50046
W & E[ACI000V 15% | #fmms | 10MQUE (DCH00VIA)
® Af EE3JIS C 9603icks. BI&BT - )09 —#aart fesee 41998, 01, 13
&ETNo, 2




